

On a New Certain Subclass of Meromorphically p -valent Functions Defined by a Linear Operator

Waggas Galib Atshan¹, Thamer Khalil Mohammed²

¹Department of Mathematics, College of Computer Science and Mathematics, University of Al-Qadisiya, Diwaniya – Iraq.

²Department of Mathematics, College of Education, University of Al-Mustansirya, Baghdad – Iraq.

Abstract: In the present paper, we have introduced a new class of meromorphically p -valent functions $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ defined by a linear operator $T_{p,q,s}(\alpha_1)$. We discuss some interesting properties, like, coefficient inequality, convex set, distortion bounds, neighborhoods of a function $f \in \Sigma_p$ and integral operator.

AMS Subject Classification: 30C45.

Keywords: Meromorphic function, Convex set, Distortion bounds, Neighborhood, Linear operator.

1. Introduction

Let Σ_p denote the class of functions of the form:

$$f(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} a_n z^n; \quad (a_n \geq 0; p \in N = \{1, 2, \dots\}), \quad (1)$$

which are analytic and p -valent in the punctured unit disk

$$U^* = \{z: z \in \mathbb{C} \text{ and } 0 < |z| < 1\} = U \setminus \{0\}.$$

We define the Hadamard product (or Convolution) of f and g by

$$(f * g)(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} a_n b_n z^n = (g * f)(z), \quad (2)$$

where f is given by (1) and g is defined as follows:

$$g(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} b_n z^n.$$

For positive real values of $\alpha_1, \dots, \alpha_q$ and β_1, \dots, β_s ($\beta_j \neq 0, -1, \dots; j = 1, 2, \dots, s$), we now define the generalized hypergeometric function

${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$ by

$${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \frac{z^n}{n!}, \quad (3)$$

($q \leq s + 1; q, s \in N_0 = N \cup \{0\}; z \in U$),

where $(\theta)_v$ is the Pochhammer symbol defined

$$(\theta)_v = \begin{cases} 1 & v = 0 \\ \theta(\theta + 1)(\theta + 2) \dots (\theta + v - 1) & v \in N. \end{cases} \quad (4)$$

Corresponding to the function $h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$, defined by

$$h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z^{-p} {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z); \quad (5)$$

we consider a linear operator

$$T_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s): \Sigma_p \rightarrow \Sigma_p,$$

which is defined by means of the following Hadamard product (or convolution):

$$T_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) f(z) = h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * f(z). \quad (6)$$

We observe that, for a function $f(z)$ of the form (1); we have

$$T_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) f(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \frac{a_n}{n!} z^n. \quad (7)$$

If, for convenience, we write

$$T_{p,q,s}(\alpha_1) = T_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s), \quad (8)$$

then one can easily verify from the definition (6) that

$$\begin{aligned} z(T_{p,q,s}(\alpha_1) f(z))' &= \alpha_1 T_{p,q,s}(\alpha_1 + 1) f(z) \\ &- (\alpha_1 + p) T_{p,q,s}(\alpha_1) f(z). \end{aligned} \quad (9)$$

The linear operator $T_{p,q,s}(\alpha_1)$ was investigated recently by Liu and Srivastava [8].

Some interesting Subclasses of analytic functions associated with the generalized hypergeometric function were considered recently by (for example) Dziok and Srivastava ([3] and [4]), Gangadharan et al. [5] and Liu [7].

Definition 1: Let $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ be denote the new class of functions

$f \in \Sigma_p$, which satisfy the condition:

$$\left| \frac{\lambda(p+2)z^2(T_{p,q,s}(\alpha_1) f(z))'' + \lambda z^3(T_{p,q,s}(\alpha_1) f(z))'''}{\mu z^2(T_{p,q,s}(\alpha_1) f(z))'' - (\mu - 1)z(T_{p,q,s}(\alpha_1) f(z))'} \right| < \eta, \quad (10)$$

where $z \in U^*$; $0 \leq \eta < p$; $p \in N$ and for some suitably restricted real parameters λ , and μ .

Such type of study was carried out by several different authors for another classes, like, Nunokawa and Ahuja [9], Aouf and Hossen [1] and Cho et al. [2].

2. Coefficient Inequality

First, we derive the coefficient inequality for the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ contained in:

Theorem 1: Let $f \in \Sigma_p$. Then f is in the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ if and only if

$$\sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} \leq \eta p(\mu(p+1) - 1), \quad (11)$$

where $0 < \eta < p$; $\frac{1}{2} < \mu < \lambda < p$; and $p \in \mathbb{N}$.

The result is sharp for the function

$$\begin{aligned} f(z) &= \frac{1}{z^p} \\ &+ \frac{n! \eta p(\mu(p+1) - 1)}{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}} z^n, \quad n \geq p. \end{aligned} \quad (12)$$

Proof: Suppose that the inequality (11) holds true and $|z| = 1$. Then, we have

$$\begin{aligned} &|\lambda(p+2)z^2(T_{p,q,s}(\alpha_1)f(z))'' + \lambda z^3(T_{p,q,s}(\alpha_1)f(z))''' \\ &- \eta|(\mu-1)z(T_{p,q,s}(\alpha_1)f(z))' \\ &+ \mu z^2(T_{p,q,s}(\alpha_1)f(z))''| \end{aligned}$$

$$= \left| \sum_{n=p}^{\infty} \lambda n(n-1)(n+p) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n \right|$$

$$\begin{aligned} &- \eta \left| p(\mu(p+2) - 1)z^{-p} \right. \\ &- \sum_{n=p}^{\infty} n(\mu(2-n)) \\ &- \left. 1) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n \right| \end{aligned}$$

$$\left| \frac{\sum_{n=p}^{\infty} \lambda n(n-1)(n+p) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n}{p(\mu(p+2) - 1)z^{-p} - \sum_{n=p}^{\infty} n(\mu(2-n) - 1) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n} \right| < \eta.$$

Since $\text{Re}(z) \leq |z|$ for all $z (z \in U)$, we have

$$\text{Re} \left\{ \frac{\sum_{n=p}^{\infty} \lambda n(n-1)(n+p) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n}{p(\mu(p+2) - 1)z^{-p} - \sum_{n=p}^{\infty} n(\mu(2-n) - 1) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} z^n} \right\} < \eta. \quad (13)$$

We choose the value of z on the real axis so that $z(T_{p,q,s}(\alpha_1)f(z))'$ is real.

Upon clearing the denominator of (13) and letting $z \rightarrow 1^-$, through real values so we can write (13) as

$$\begin{aligned} &\sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) \\ &+ 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} \\ &\leq \eta p(\mu(p+1) - 1). \end{aligned}$$

Sharpness of the result follows by setting

$$\begin{aligned} &\leq \sum_{n=p}^{\infty} \lambda n(n-1)(n+p) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} |z|^n \\ &- \eta p(\mu(p+2) - 1)|z|^{-p} \\ &+ \sum_{n=p}^{\infty} \eta n(\mu(2-n)) \\ &- 1) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} |z|^n \end{aligned}$$

$$= \sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n a_n}{(\beta_1)_n \dots (\beta_s)_n n!} - \eta p(\mu(p+1) - 1) \leq 0,$$

by hypothesis. Thus by maximum modulus principle, $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$.

To show the converse, suppose that

$f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$. Then (10), we have

$$\left| \frac{\lambda(p+2)z^2(T_{p,q,s}(\alpha_1)f(z))'' + \lambda z^3(T_{p,q,s}(\alpha_1)f(z))'''}{\mu z^2(T_{p,q,s}(\alpha_1)f(z))'' - (\mu-1)z(T_{p,q,s}(\alpha_1)f(z))'} \right| =$$

$$\begin{aligned} f(z) &= \frac{1}{z^p} \\ &+ \frac{n! \eta p(\mu(p+1) - 1)}{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}} z^n, \quad (n \geq p). \end{aligned}$$

Corollary 1: Let $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$. Then

$$\begin{aligned} &a_n \\ &\leq \frac{\eta p(\mu(p+1) - 1)n!}{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}} \end{aligned}$$

$(n \geq p).$

3. Convex Set

In the following theorem, we will prove the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ is convex set.

Theorem 2: The class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$ is a convex set.

Proof: Let f_1 and f_2 be the arbitrary elements of

$\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$.

Then for every $t (0 \leq t \leq 1)$, we show that $(1-t)f_1 + tf_2 \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$.

Thus, we have

$$(1-t)f_1 + tf_2 = \frac{1}{z^p} + \sum_{n=p}^{\infty} [(1-t)a_n + tb_n]z^n.$$

Hence,

$$\begin{aligned} & \sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{[(1-t)a_n + tb_n]}{n!} \\ &= (1-t) \sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{a_n}{n!} \\ &+ t \sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{b_n}{n!} \\ &\leq (1-t)\eta(\mu(p+1) - 1) + t\eta p(\mu(p+1) - 1) \\ &= \eta p(\mu(p+1) - 1). \end{aligned}$$

This completes the proof.

4. 4. Distortion Bounds

In the following theorems, we obtain the growth and distortion bounds for the linear operator $T_{p,q,s}(\alpha_1)$.

Theorem 3: If $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then

$$\begin{aligned} & \frac{1}{r^p} - \frac{\eta(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^p \leq |T_{p,q,s}(\alpha_1)f(z)| \\ & \leq \frac{1}{r^p} + \frac{\eta(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^p, (|z| = r < 1). \end{aligned}$$

The result is sharp for the function

$$\begin{aligned} & f(z) = \frac{1}{z^p} + \frac{\eta p(\mu(p+1) - 1)p!}{p(\lambda(p-1)2p - \eta(\mu(p-2) + 1))} z^p \cdot \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \end{aligned} \tag{15}$$

Proof: Let $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$. Then by Theorem 1, we get

$$\begin{aligned} & p(2\lambda p(p-1) - \eta(\mu(p-2) + 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \cdot \frac{1}{p!} \sum_{n=p}^{\infty} a_n \end{aligned}$$

$$\leq \sum_{n=p}^{\infty} n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{a_n}{n!}$$

$$\leq \eta p(\mu(p+1) - 1),$$

$$\begin{aligned} & \text{or} \\ & \sum_{n=p}^{\infty} a_n \leq \frac{\eta p(\mu(p+1) - 1)p!}{p(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \end{aligned} \tag{16}$$

$$\begin{aligned} & |T_{p,q,s}(\alpha_1)f(z)| \leq \frac{1}{|z|^p} + \sum_{n=p}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{a_n}{n!} |z|^n \\ & \leq \frac{1}{|z|^p} + \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \cdot \frac{|z|^p}{p!} \sum_{n=p}^{\infty} a_n \\ & = \frac{1}{r^p} + \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \cdot \frac{r^p}{p!} \sum_{n=p}^{\infty} a_n \\ & \leq \frac{1}{r^p} + \frac{\eta(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^p. \end{aligned} \tag{17}$$

Similarly,

$$\begin{aligned} & |T_{p,q,s}(\alpha_1)f(z)| \geq \frac{1}{|z|^p} - \sum_{n=p}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} \cdot \frac{a_n}{n!} |z|^n \\ & \geq \frac{1}{|z|^p} - \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \cdot \frac{|z|^p}{p!} \sum_{n=p}^{\infty} a_n \\ & = \frac{1}{r^p} - \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} \cdot \frac{r^p}{p!} \sum_{n=p}^{\infty} a_n \\ & \geq \frac{1}{r^p} - \frac{\eta(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^p. \end{aligned} \tag{18}$$

From (17) and (18), we get (14) and the proof is complete.

Theorem 4: If $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then

$$\begin{aligned} & \frac{-p}{r^{p+1}} - \frac{\eta p(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^{p-1} \leq |(T_{p,q,s}(\alpha_1)f(z))'| \leq \\ & \frac{-p}{r^{p+1}} + \frac{\eta p(\mu(p+1) - 1)}{(2\lambda p(p-1) - \eta(\mu(p-2) + 1))} r^{p-1}, (|z| = r < 1). \end{aligned} \tag{19}$$

The result is sharp for the function $f(z)$ is given by (15).

Proof: The proof is similar to that of Theorem 3.

5. δ -Neighborhood of a function $f \in \Sigma_p$:

Following the earlier works on neighborhoods of analytic functions by Goodman [6] and Ruscheweyh [10], we begin by introducing here the δ -Neighborhood of a function $f \in \Sigma_p$ of the form (1) by means of the definition below:

$$\begin{aligned} & N_{\delta}(f) = \left\{ g \in \Sigma_p : g(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} b_n z^n \text{ and } \sum_{n=p}^{\infty} n|a_n - b_n| \leq \delta, 0 \leq \delta < 1 \right\}. \end{aligned} \tag{20}$$

Particularly for the identity function $(z) = \frac{1}{z^p}$, we have

$$N_\delta(e) = \left\{ g \in \sum_p : g(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} b_n z^n \text{ and } \sum_{n=p}^{\infty} n|b_n| \leq \delta \right\}. \quad (21)$$

Definition 2: A function $f(z) \in \sum_p$ is said to be in the class $\sum_{p,y}(\lambda, \mu, \eta, \alpha_1, q, s)$, if there exists function $g(z) \in \sum_p(\lambda, \mu, \eta, \alpha_1, q, s)$, such that $\left| \frac{f(z)}{g(z)} - 1 \right| < 1 - y, (z \in y, 0 \leq y < 1)$.

Theorem 5: If $g(z) \in \sum_p(\lambda, \mu, \eta, \alpha_1, q, s)$ and

$$y = 1 - \frac{\delta(\lambda(p-1)2p - \eta(\mu(p-2) - 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p}}{p(\lambda(p-1)2p - \eta(\mu(p-2) + 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} - \eta(\mu(p+1) - 1)p!}. \quad (22)$$

Proof: Let $f(z) \in N_\delta(g)$. Then, we find from (20) that

$$\sum_{n=p}^{\infty} n|a_n - b_n| \leq \delta,$$

which implies the coefficient inequality

$$\sum_{n=p}^{\infty} |a_n - b_n| \leq \frac{\delta}{p}, (n \geq p).$$

Since $g(z) \in \sum_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then by using Theorem (1), we get

$$\sum_{n=p}^{\infty} b_n \leq \frac{\eta(\mu(p+1) - 1)p!}{(\lambda(p-1)2p - \eta(\mu(p-2) + 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p}},$$

so that

$$\left| \frac{f(z)}{g(z)} - 1 \right| < \frac{\sum_{n=p}^{\infty} |a_n - b_n|}{1 - \sum_{n=p}^{\infty} b_n} \leq \frac{\delta}{p} \frac{\delta(\lambda(p-1)2p - \eta(\mu(p-2) - 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p}}{(\lambda(p-1)2p - \eta(\mu(p-2) + 1)) \frac{(\alpha_1)_p \dots (\alpha_q)_p}{(\beta_1)_p \dots (\beta_s)_p} - \eta(\mu(p+1) - 1)p!} = 1 - y.$$

Hence, by Definition 2, $f(z) \in \sum_{p,y}(\lambda, \mu, \eta, \alpha_1, q, s)$ for y given by (22).

This complete the proof.

6. Radii of starlikeness and convexity:

In the following Theorems, we discuss the radii starlikeness and convexity.

Theorem 6: If $f(z) \in \sum_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then $f(z)$ is multivalent meromorphic starlike of order $\theta (0 \leq \theta < p)$ in the disk $|z| < r_1$, where

$$r_1 = \inf_n \left\{ \frac{(p - \theta)n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}^{\frac{1}{n+p}}}{(n + 2p - \theta)\eta p(\mu(p+1) - 1)n!} \right\},$$

$n \geq p$.

The result is sharp for the function $f(z)$ is given by (12).

Proof: It is sufficient to show that

$$\left| \frac{zf'(z)}{f(z)} + p \right| \leq p - \theta \text{ for } |z| < r_1. \quad (23)$$

But

$$\left| \frac{zf'(z) + pf(z)}{f(z)} \right| = \left| \frac{\sum_{n=p}^{\infty} (n+p)a_n z^{n+p}}{1 + \sum_{n=p}^{\infty} a_n z^{n+p}} \right| \leq \frac{\sum_{n=p}^{\infty} (n+p)a_n |z|^{n+p}}{1 - \sum_{n=p}^{\infty} a_n |z|^{n+p}}.$$

or if

$$\frac{\sum_{n=p}^{\infty} (n+p)a_n |z|^{n+p}}{1 - \sum_{n=p}^{\infty} a_n |z|^{n+p}} \leq p - \theta,$$

$$\sum_{n=p}^{\infty} \frac{(n + 2p - \theta)a_n}{p - \theta} |z|^{n+p} \leq 1. \quad (24)$$

Since $f(z) \in \sum_p(\lambda, \mu, \eta, \alpha_1, q, s)$, we have

Thus, (23) will be satisfied if

$$\sum_{n=p}^{\infty} \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{\eta p(\mu(p+1) - 1)n!} a_n \leq 1.$$

Hence, (24) will be true if

$$\frac{(n+2p-\theta)}{p-\theta} |z|^{n+p} \leq \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{\eta p(\mu(p+1) - 1)n!},$$

or equivalently

$$|z| \leq \left\{ \frac{(p-\theta)n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{(n+2p-\theta) - \eta(\mu(p+1) - 1)n!} \right\}^{\frac{1}{n+p}}, n \geq p$$

which follows the result.

Theorem 7: If $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then $f(z)$ is multivalent meromorphic convex of order θ ($0 \leq \theta < p$) in the disk $|z| < r_2$, where

$$r_2 = \inf_n \left\{ \frac{p(p-\theta)n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{n(n+2p-\theta) - \eta(\mu(p+1) - 1)n!} \right\}^{\frac{1}{n+p}}, n \geq p.$$

The result is sharp for the function $f(z)$ is given by (12).

Thus, (25) will be satisfied if

Proof: It is sufficient to show that

$$\left| \frac{zf''(z)}{f'(z)} + 1 + p \right| \leq p - \theta \text{ for } |z| < r_2. \quad (25)$$

or if

$$\frac{\sum_{n=p}^{\infty} n(n+p)a_n |z|^{n+p}}{p - \sum_{n=p}^{\infty} n a_n |z|^{n+p}} \leq p - \theta,$$

But

$$\left| \frac{zf''(z)}{f'(z)} + 1 + p \right| = \left| \frac{zf''(z) + (1+p)f'(z)}{f'(z)} \right| \leq \frac{\sum_{n=p}^{\infty} n(n+p)a_n |z|^{n+p}}{p - \sum_{n=p}^{\infty} n a_n |z|^{n+p}}.$$

$$\sum_{n=p}^{\infty} \frac{(n+2p-\theta)a_n}{p(p-\theta)} |z|^{n+p} \leq 1. \quad (26)$$

Since $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, we have

$$\sum_{n=p}^{\infty} \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{\eta p(\mu(p+1) - 1)n!} a_n \leq 1.$$

Hence, (26) will be true if

$$\frac{n(n+2p-\theta)}{p(p-\theta)} |z|^{n+p} \leq \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{\eta p(\mu(p+1) - 1)n!},$$

or equivalently

$$|z| \leq \left\{ \frac{p(p-\theta)n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{n(n+2p-\theta)\eta(\mu(p+1) - 1)n!} \right\}^{\frac{1}{n+p}}, n \geq p,$$

which follows the result.

Theorem 8: Let the function $f(z)$ be given by (1) in the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$. Then, the integral operator

$$\omega(z) = \varepsilon \int_0^1 u^\varepsilon f(uz) du, \quad (0 < u \leq 1, 0 < \varepsilon < \infty), \quad (27)$$

is in the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, where

$$\tau = \frac{\varepsilon(\lambda(p-1)2p - \eta)(\mu(p+1) - 1) + (\varepsilon + p + 1)(\lambda(p-1)2p - \eta)(\mu(p+1) - 1)}{(\varepsilon + p + 1)(p+1)(\lambda(p-1)2p - \eta(\mu(p-2) + 1))\eta\varepsilon(p-2)(\mu(p+1) - 1)}.$$

The result is sharp for the function $f(z)$ given by (15).

Proof: Let

$f(z) = \frac{1}{z^p} + \sum_{n=p}^{\infty} a_n z^n$ is in the class $\Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$.

Then

$$\begin{aligned} \omega(z) &= \varepsilon \int_0^1 u^\varepsilon f(uz) du \\ &= \varepsilon \int_0^1 \left(\frac{u^{\varepsilon-1}}{z^p} - \sum_{n=p}^{\infty} u^{n+\varepsilon} a_n z^n \right) d\varepsilon \\ &= \frac{1}{z^p} + \sum_{n=p}^{\infty} \frac{\varepsilon}{\varepsilon + n + 1} a_n z^n. \end{aligned}$$

It is enough to show that

$$\sum_{n=p}^{\infty} \frac{\varepsilon n (\lambda(n-1)(n+p) - \eta(\tau(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} a_n}{(\varepsilon + n + 1) \eta p (\tau(p+1) - 1) n!} \leq 1. \quad (28)$$

Since $f(z) \in \Sigma_p(\lambda, \mu, \eta, \alpha_1, q, s)$, then by Theorem 1, we get or equivalently

$$\tau \leq \frac{\varepsilon(\lambda(n-1)(n+p) - \eta)(\mu(p+1) - 1) + (\varepsilon + n + 1)(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1))}{(\varepsilon + n + 1)(p+1)(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) + \eta\varepsilon(n-2)(\mu(p+1) - 1)} = \omega(n).$$

A simple computation will show that $\omega(n)$ is increasing function of n .

This means that $\omega(n) \geq \omega(p)$. Using this, we obtain the result.

References

- [1] M. K. Aouf and H. M. Hossen, New criteria for of meromorphic p -valent starlike functions, Tsukuba. J. Math., 17(2)(1993), 481-486.
- [2] N. M. Cho, S. H. Lee and S. Owa, A class of meromorphic univalent functions with positive coefficients, Keobe J. Math. 4(1987), 43-50.
- [3] J. Dziok and H. M. Srivastava, Classes of analytic functions associated with the generalized hypergeometric function, Appl. Math. Comput., 103(1999), 1-13.
- [4] J. Dziok and H. M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function, Integral Transform and special functions, 14(2003), 7-18.
- [5] Gangadharan, T. N. Shanamugam and H. M. Srivastava, Generalized hypergeometric functions associated with k -uniformly convex functions, Comput. Math. Appl., 44(2)(2002), 1515-1526.
- [6] W. Goodman, Univalent functions and non-analytic curves, Proc. Amer. Math. Soc., 8(3)(1975), 598-601.
- [7] J. L. Liu, Strongly starlike functions associated with the Dziok- Srivastava operator, Tamkang J. Math., 35(1)(2004).37-42.
- [8] J. L. Liu and H. M. Srivastava, Classes of meromorphically multivalent functions associated with the generalized hypergeometric function, Math. Comput. Modelling, 39(2004), 21-34.
- [9] M. Nunokawa and O.P. Ahuja, On meromorphic starlike and convex functions, Indian Journal of Pure and Applied Mathematics, 32(7)(2001), 1027-1032.
- [10] S. Ruscheweyh, Neighborhoods of univalent functions, Proc. Amer. Math. Soc., 81(1981), 521-527.

$$\sum_{n=p}^{\infty} \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n} a_n}{\eta p (\mu(p+1) - 1) n!} \leq 1.$$

Note that (28) is satisfied if

$$\begin{aligned} &\frac{\varepsilon n (\lambda(n-1)(n+p) - \eta(\tau(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{(\varepsilon + n + 1) \eta p (\tau(p+1) - 1) n!} \\ &\leq \frac{n(\lambda(n-1)(n+p) - \eta(\mu(n-2) + 1)) \frac{(\alpha_1)_n \dots (\alpha_q)_n}{(\beta_1)_n \dots (\beta_s)_n}}{\eta p (\mu(p+1) - 1) n!} \end{aligned}$$

Author Profile



Waggas Galib Atshan, Assist. Prof. Dr. in Mathematics (Complex Analysis), teacher at University of Al-Qadisiya, College of Computer Science & Mathematics, Depart. of Mathematics, he has 90 papers published in various journals in mathematics till now, he taught seventeen subjects in mathematics till now (undergraduate, graduate), he is supervisor on 20 students (Ph.D., M.Sc.) till now, he attended 23 international and national conferences.